
This does not have the same meaning and 
context as your essay.

Sentence structure

Which one?

Contextually incorrect. This suggests that it still is 
abundant which is not the case of the topic

Negates the previous statement. Resulting in lack of Coherence 

What? Capitalise
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Weight if 
this should 
be more 
than the 
impacts.

Sentence structure
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Grammatically incorrect Which sector? You are
Starting a paragraph, do not use pronouns

Very 
incoherent. 
There is no 
connectivity 
and flow in 
the ideas
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Commercialisation of 
media is considered 
as the biggest ill
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Sentence structure

Sentence structure

You are not discussing role of media
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You cannot make generalised statements 
like this

Incomplete and unstructured sentence 

Wrong use of words ed
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